No. of Printed Pages : 2

1958

EF309/EL309 RoliNo,: . SATIGES .

2015 -
COMPUTER COMMUNICATION

frerifia . A | | [rfireem 3 : 70,

Time allowed : Three Hours]| [Maximum Marks : 70

qiz . (i) WA AbErE & 9 d @ el gt & I di |
Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(i) WF T & Gl ST Sl FHAR GF T B FiloT |
Solve all parts of a question consecutively together.
(iii) WA 9 1 T4 JTH AR HITT |
Start each question on a fresh page.
(iv) i s A e @i @) i 7 st s & A &

Only English version is valid in case of difference in both the languages.

1. () %u-ud-de yame FEE 1 qor # ifeT fagat ware fesm & o w1 e 0
What is the advantage of sliding window flow control as compared to stop-and-
wait flow control ?

(i) CRC o st afore fohd S Webt aret fobgt i il bl el HITT |
List three different ways in which the CRC algorithm can be described.
(iti) TS T TH AR H F 7T HHT 1€ 2
What are some major limitations of twisted pair wire ?
(iv) TCP/IP FI % ?
What is TCP/IP ?
(v) e Aeawd § Feafer i aftafed w1

Define ‘switching’ in computer networks. (2%5)
z.ywﬁa%wm%?mﬁﬁmmw%? U TR HUR o & seEd
fef@n |

What is computer network ? What are its different types ? Also write
components of a data communication system.

(i) SRR & e e ¥ 2 e ) fafir faful ot s
What is meant by framing ? Explain different methods of framing. (6x2)
P.T.O.
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Explain the leaky bucket technique of congestion control in detail.
@/‘nf%aﬁ‘oli‘%mw%? Hitpe feafen w dohe fafem & ol = wogmed |

What is circuit switching ? Explain the advantage of circuit switching over

packet switching. (6x2)
4. (i) UH TEEH F WG HA A dEAE € 2 CSMA & 9™ HH AA el diq
afige~g idihied Hi A |

What are various techniques to access a medium ? Explain the three persistence
protocols that can be used with CSMA.
(ii) e e, S forsh W Td e WA & g F 37 et fafi= wetwed faray |

Write down various protocols used for physical layer, data link layer and

network layer. (8+4)
5. &Wﬁwwuﬁmmﬂ%ﬁqwmﬁm%ﬂ |
\/ Describe an algorithm to find shortest path routing in the network.

(il 3T FS T WEYd Hiwgl A AR I ¢ 7 & Fhg vHR wgd el F siwT
o1 Ud 3y SAibel i 9gvd farTer H aget Wk € 2
What is the difference between digital data and analog data ? How can we
convert analog data into digital signal and digital data into analog signal? (6x2)

6. (i) o=t qR:EwRor qebHish o A9 SaTsd | WA ¥ M-aeN e deifwes f{fue ARQ @

TR |
Name different retransmission techniques. Briefly explain go-back-N and
selective repeat ARQ.
(i) 1SO-OSI Hey Higet i Uedsh WA & HId! Hl GHEY |
Explain the functions of each layer in ISO-OSI reference model. (6x2)
Fork IO | ST T A0 € ? S Ud &R iersit st SIReT Siftd |

What do you mean by network topology ? Describe bus & star topologies.
(i) HUB td farsit % st o foear € g0z |
Explain the functions of HUB and bridges in detail. (6x2)
8. e @ forel @t wt wiftra feufor ferfia

Write short notes on any two of the following :

%DEM

(i) X.25 T=THE
X.25 interface
__(ii}y e ) Sl
Internet Working (6x2)



